1 System of equations

Main features

2 sectors: tradable (T) + non-tradable(N)

2 workers: 1,2

Workers consume, supply labor and save in foreign bonds

Perfect labor mobility for each worker type between T-NT sectors

shock: price of the endowment: "p©°o"

Fraction "1-u" of the endowment goes for worker "1", fraction pu goes for worker "2"

Euler equations:
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1 SYSTEM OF EQUATIONS

Consumption aggregation:

Production functions and optimality conditions :

Interest rate

Market clearing

Labor market clearing:

Exogenous variables
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